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FIGURES

1. Find the area of a triangle :

whose height is 6 cm and base is 10 cm.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_oubECS8WJFit

° Watch Video Solution

2.Find the area of a triangle :

whose three sides are 17 cm, 8 cm and 15 cm
long.

Also, in part (ii) of the question, calculate the
length of the altitude corresponding to the

largest side of the triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_oubECS8WJFit
https://dl.doubtnut.com/l/_E1cGFKlyA6iH

3. The area of an equilateral triangle is
numerically equal to its perimeter.

Find a side of the triangle [Take /3 = 1.73].

o Watch Video Solution

4. Calculate the area of an equilateral triangle,

whose height is 20 cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_l2PBxjMxY2bB
https://dl.doubtnut.com/l/_ekR6DDdmACM8

5. Find the area of an isosceles triangle whose

equal sides are 5 cm each and base is 6 cm.

° Watch Video Solution

6. The sides of a triangle containing the right
angle are 5x cm and (3z — 1) cm. If the area of
the triangle is 60 cm?, calculate the lengths of

the sides of the triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_XQzfe6Gb378i
https://dl.doubtnut.com/l/_hObVs0XQHZlO
https://dl.doubtnut.com/l/_MNX93hVGcAy2

7. The given figure shows an equilateral
triangle ABC whose each side is 10 cm and a
right-angled triangle BDC whose side BD = 8

cm and ZD = 90°. Find the area of the

shaded portion.

=

10 cm

o Watch Video Solution



https://dl.doubtnut.com/l/_MNX93hVGcAy2
https://dl.doubtnut.com/l/_pfkMgcuh5Fch

8. A kite is made as shown alongside in which
ABC is an equilateral triangle with side 20 cm,
BOC is an isosceles triangle with OB = OC = 26
cm and ODE is an isosceles triangle with base

DE = 8 cm and height 6 cm. Find the whole


https://dl.doubtnut.com/l/_pfkMgcuh5Fch

area of the kite.

D E

o Watch Video Solution



https://dl.doubtnut.com/l/_pfkMgcuh5Fch
https://dl.doubtnut.com/l/_lMh0ZgeU4AcZ

9. The area of an isosceles triangle is 60cm?
and the length of each one of its equal sides is

13 cm. Find its base.

o Watch Video Solution

10. The perimeter of a rectangle is 25.5 m. Its

length is 9.5 m. Calculate its area in sq. m

(m?).

o Watch Video Solution



https://dl.doubtnut.com/l/_lMh0ZgeU4AcZ
https://dl.doubtnut.com/l/_4LJw1PVfcWAI
https://dl.doubtnut.com/l/_Iea0hBZI0bu6

1. Aroomis 8 m long and 5 m broad. Find the
cost of covering the floor of the room with 80

cm wide carpet at the rate of Rs 225 per metre.

o Watch Video Solution

12. The area of a square field is 484 m?. Find :

the length of its one side,

o Watch Video Solution



https://dl.doubtnut.com/l/_Iea0hBZI0bu6
https://dl.doubtnut.com/l/_J0P9pcpXl9eH

13. The area of a square field is 484 m?. Find :
the length of its diagonal, correct to two

places of decimal.

o Watch Video Solution

14. Two adjacent sides of a parallelogram are
15 cm and 10 cm. If the distance between 15 cm
sides is 8 cm, find the distance between 10 cm

sides.

° Watch Video Solution



https://dl.doubtnut.com/l/_j7ijHBsJjD0u
https://dl.doubtnut.com/l/_LOMpdhpfqISS

15. PORS is a rhombus.
If it is given that PQ = 3 cm, calculate the

perimeter of PQRS.

° Watch Video Solution

16. PORS is a rhombus.
If it is given that PQ=3cm and if the height of

the rhombus is 2.5 cm, calculate the area.

° Watch Video Solution



https://dl.doubtnut.com/l/_LOMpdhpfqISS
https://dl.doubtnut.com/l/_VivPhTUJD0PK
https://dl.doubtnut.com/l/_uSs0PvrXaK3d

17. The given figure shows a trapezium ABCD in
which AB =17 cm, BC = 8 cm and CD = 15 cm.

Find the area and perimeter of the trapezium.

15 om

o Watch Video Solution



https://dl.doubtnut.com/l/_aYzSvu1fFYGF

18. Find the area of the trapezium whose
parallel sides are 15 cm amd 23 cm, whereas

the non-parallel sides are 10 cm and 8 cm.

o Watch Video Solution

19. A footpath of uniform width runs all
around the inside of a rectangular field 38 m
long and 32 m wide. If the path occupies 600

m?, find its width.

o Watch Video Solution



https://dl.doubtnut.com/l/_5mamV33Ddq6h
https://dl.doubtnut.com/l/_FLpsaGHlPyoD

20. A wire is bent in the form of an equilateral
triangle of largest area. If it encloses an area
of 49,/3 cm?, find the largest area enclosed by
the same wire when bent to form :

da square

o Watch Video Solution

21. A wire is bent in the form of an equilateral
triangle of largest area. If it encloses an area

of 49,/3 cm?, find the largest area enclosed by


https://dl.doubtnut.com/l/_FLpsaGHlPyoD
https://dl.doubtnut.com/l/_GR6ZeBvI3mLS
https://dl.doubtnut.com/l/_slWgLOp0SUHR

the same wire when bent to form :

a rectangle of length 12 cm.

° Watch Video Solution

22. The distance between parallel sides of a
trapezium is 20 cm and the length of the line
segment joining the mid-points of its non-
parallel sides is 53 cm. Find the area of the

trapezium.

° Watch Video Solution



https://dl.doubtnut.com/l/_slWgLOp0SUHR
https://dl.doubtnut.com/l/_8FPvmFNAuSoN
https://dl.doubtnut.com/l/_Yq9VselszYSS

23. Area of a square is same as that of a
rectangle. The length and the breadth of the
rectangle are respectively 5 cm more and 4 cm
less than the side of the square. Find the side

of the square.

° Watch Video Solution

24. The circumference of a circle exceeds its

diameter by 270 cm. Find its diameter.

o Watch Video Solution



https://dl.doubtnut.com/l/_Yq9VselszYSS
https://dl.doubtnut.com/l/_YgBfCd67nMCZ

25. Find the diameter of the circle whose
circumference is equal to the sum of the
circumference of circles with radii 5 cm, 8 cm

and 10 cm.

° Watch Video Solution

26. The area of a circle is numerically equal to

its circumference. Find its area (Take m = 3.14

).

° Watch Video Solution



https://dl.doubtnut.com/l/_Zsnw8AUOl4Wx
https://dl.doubtnut.com/l/_U4Wb5ejHdEFL

27. A rectangular sheet of paper is 35 cm long
and 28 cm wide. Find the area of the largest

circle that can be cut from this sheet.

o Watch Video Solution

28. Find the perimeter of a cirlce whose area is
equal to sum of areas of the circles with
diameters 10 cm and 24 cm. Give your answer

correct to two decimal places.

o Watch Video Solution



https://dl.doubtnut.com/l/_U4Wb5ejHdEFL
https://dl.doubtnut.com/l/_hzfgppzrvbty
https://dl.doubtnut.com/l/_vavFBqekMorm

29. The radii of two circles are in the ratio 5: 8.
If the difference between their areas is 3517
sqg. cm, find the area of the bigger circle. Take

T = 3.14.

o Watch Video Solution

30. A uniform circular track is the area

bounded by two concentric circles. If the ares


https://dl.doubtnut.com/l/_vavFBqekMorm
https://dl.doubtnut.com/l/_6kLquj8IyUYP
https://dl.doubtnut.com/l/_knTplrcX7YMP

of the track is 1144 m? and its width is 14 m,

find the diameters of the two circles.

° Watch Video Solution

31. The radii of the wheel of a car is 28 cm. Find
the number of rotations made by the wheel in

order to cover a distance of 4.4 km ?

° Watch Video Solution



https://dl.doubtnut.com/l/_knTplrcX7YMP
https://dl.doubtnut.com/l/_sggUaoGquRIX

32. A circular wheel if radius 28 cm makes 300
revolutions per minute. Find the speed of the

wheel in kilometre per hour.

o Watch Video Solution

33. In the given figure, find the area of the

unshaded portion within the rectangle. (Take


https://dl.doubtnut.com/l/_uigUq3TSbWk8
https://dl.doubtnut.com/l/_QVGlrBprpeYW

T = 3.14).

° Watch Video Solution

Exercise 20 A

1. Find the area of a triangle whose sides are

18 cm, 24 cm and 30 cm.


https://dl.doubtnut.com/l/_QVGlrBprpeYW
https://dl.doubtnut.com/l/_c8MKcuwTn7Eh

Also, find the length of altitude corresponding

to the larger side of the triangle.

° Watch Video Solution

2. The length of the sides of a triangle are in
the ratio 3:4: 5. Find the area of the triangle if

its perimeter is 144 cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_c8MKcuwTn7Eh
https://dl.doubtnut.com/l/_ncFnVEFKUBci

3. ABC is a triangle in which AB =AC=4 cm and
ZA = 90°. Calculate:

the area of AABC,

o Watch Video Solution

4. ABC is a triangle in which AB =AC =4 cm and

/A = 90°. Calculate:

the length of perpendicular from A to BC.

o Watch Video Solution



https://dl.doubtnut.com/l/_E2Jyl1A8Jt09
https://dl.doubtnut.com/l/_kZhluX3Ef4Nc
https://dl.doubtnut.com/l/_Ob4vnNa84oJ6

5. The area of an equilateral triangle is 36./3

sqg.cm. Find its perimeter.

o Watch Video Solution

6. Find the area of an isosceles triangle with

perimeter 36 cm and base 16 cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_Ob4vnNa84oJ6
https://dl.doubtnut.com/l/_JIJeb8XxKA1M

7. The base of an isosceles triangle is 24 cm

and its area is 192 sq. cm. Find its perimeter.

o Watch Video Solution

8. The given figure shows a right angled

triangle ABC and an equilateral triangle BCD.


https://dl.doubtnut.com/l/_JFx3Kx6RGDJo
https://dl.doubtnut.com/l/_FM57kGlfRxra

Find the area of the shaded portion.

Ay

° Watch Video Solution



https://dl.doubtnut.com/l/_FM57kGlfRxra

9. Find the area and the perimeter of
quadrilateral ABCD, given below, if, AB = 8 cm,
AD = 10 cm, BD = 12 ¢cm, DC 13 cm and

ZDBC = 90°.

R~
[\
AN -

{

A L __

o Watch Video Solution



https://dl.doubtnut.com/l/_nItQ7ynBzGHA

10. The base of a triangular field is three times
its height. If the cost of cultivating the field at
Rs 36.72 per 100 m? is Rs 49,572, find its base

and height.

° Watch Video Solution

11. The sides of a triangle field are in the ratio
5:3:4 and its perimeter is 180 m. Find :

its area

° Watch Video Solution



https://dl.doubtnut.com/l/_eYupFIuynWC7
https://dl.doubtnut.com/l/_g988HUU3kSBy

12. The sides of a triangle field are in the ratio
5:3:4 and its perimeter is 180 m. Find :
altitude of the traingle corresponding to its

largest side.

o Watch Video Solution

13. The sides of a triangle field are in the ratio
5:3:4 and its perimeter is 180 m. Find :
the cost of levelling the field at the rate of Rs

10 per square metre.


https://dl.doubtnut.com/l/_g988HUU3kSBy
https://dl.doubtnut.com/l/_GqkOqPWa3MMd
https://dl.doubtnut.com/l/_61vD2gvFaHa1

° Watch Video Solution

14. Each of equal sides of an isosceles triangle
is 4 cm greater than its height. If the base of
the triangle is 24 cm, calculate the perimeter

and the area of the triangle.

o Watch Video Solution

15. Calculate the area and the height of an

equilateral triangle whose perimeter is 60 cm.

| e |


https://dl.doubtnut.com/l/_61vD2gvFaHa1
https://dl.doubtnut.com/l/_N2wUY8cbT8tN
https://dl.doubtnut.com/l/_gSHY7tms0hef

& Wwatch Video Solution I

16.In AABC, angle A = 90°, side AB = x cm,
AC = (z + 5) cm and area = 150 c¢m?. Find the

sides of triangle.

° Watch Video Solution

17. If the difference between the sides of a
right angled triangle is 3 cm and its area is 54

em?, find its perimeter.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_gSHY7tms0hef
https://dl.doubtnut.com/l/_m05q3LBvlpDH
https://dl.doubtnut.com/l/_dRee8h9kcnIM

18. AD is altitude of an isosceles triangle ABC
in which AB = AC =30 cm and BC =36 cm. A
point O is marked on AD in such a way that
/BOC = 90°. Find the area of quadrilateral

ABOC.

° Watch Video Solution

Exercise 20 B


https://dl.doubtnut.com/l/_dRee8h9kcnIM
https://dl.doubtnut.com/l/_BNRkfg0D7jDo

1. Find the area of a quadrilateral one of
whose diagonals is 30 cm long and the
perpendiculars from the other two vertices are

19 cm and 11 cm respectively.

o Watch Video Solution

2. The diagonals of a quadrilateral are 16 cm
and 13 cm. If they intersect each other at right

angles, find the area of the quadrilateral.

o Watch Video Solution



https://dl.doubtnut.com/l/_isiFWH0lJVFL
https://dl.doubtnut.com/l/_70RCPqhf0TYa

3. Calculate the area of quadrilateral ABCD, in
which ZABD = 90°, triangle BCD is an
equilateral triangle of side 24 cm and AD = 26

cam.

o Watch Video Solution

4. Calculate the area of quadrilateral ABCD in
which AB =32 cm, AD =24 cm, ZA = 90° and

BC=CD=52 cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_70RCPqhf0TYa
https://dl.doubtnut.com/l/_ukCerAjJEpQ9
https://dl.doubtnut.com/l/_PqMtenqIUpP6

5. The perimeter of a rectangular field is 5 km.

If the length of the field is twice its width, find

the area of the rectangle in sq. metres.

o Watch Video Solution

6. A rectangular plot 85 m long and 60 m
broad is to be covered with grass leaving 5 m

all around. Find the area to be laid with grass.

o Watch Video Solution



https://dl.doubtnut.com/l/_PqMtenqIUpP6
https://dl.doubtnut.com/l/_NpUrMslwlOg1
https://dl.doubtnut.com/l/_FEtUFmCcTDNW

7. The length and the breadth of a rectangle
are 6 cm and 4 cm respectively. Find the height
of a triangle whose base is 6 cm and area is 3

times that of the rectangle.

o Watch Video Solution

2 will

8. How many tiles, each of area 400 cm
be needed to pave a footpath which is 2 m

wide and surrounds a grass plot 25 m long

and 13 m wide ?


https://dl.doubtnut.com/l/_FEtUFmCcTDNW
https://dl.doubtnut.com/l/_Ocb6CRIuiSN3
https://dl.doubtnut.com/l/_8DIeppA4Wja7

° Watch Video Solution

9. The cost of enclosing a rectangular garden
with a fence all round, at the rate of 75 paise
per metre, is Rs 300. If the length of the
garden is 120 metres, find the area of the field

in square metres.

° Watch Video Solution



https://dl.doubtnut.com/l/_8DIeppA4Wja7
https://dl.doubtnut.com/l/_jiaMu9JgC4l6

10. The width of a rectangular room is — of its
length, x, and its perimeter is y. Write an
equation connecting x and y. Find the length

of the room when the perimeter is 4400 cm.

o Watch Video Solution

11. The length of a rectangular varandah is 3 m
more than its breadth. The numerical value of
its area is equal to the numerical value of its

perimeter.


https://dl.doubtnut.com/l/_TpZ58ipxb4NH
https://dl.doubtnut.com/l/_PRlMfhLTpADr

Taking x as the breadth of the varandah, write
an equation in x that represents the above

statement.

° Watch Video Solution

12. The length of a rectangular varandah is 3 m
more than its breadth. The numerical value of
its area is equal to the numerical value of its
perimeter.

find the dimensions of the varandah.

° Watch Video Solution



https://dl.doubtnut.com/l/_PRlMfhLTpADr
https://dl.doubtnut.com/l/_yYeT0iHgAfA3

13. The diagram, given below, shows two paths
drawn inside a rectangular fields 80 m long
and 45 m wide. The widths of the two paths
are 8 m and 15 m as shown. Find the area of

the shaded portion.

° Watch Video Solution



https://dl.doubtnut.com/l/_yYeT0iHgAfA3
https://dl.doubtnut.com/l/_ZityDqiuIpWR

14. The rate for a 1.20 m wide carpet is Rs 40
per metre, find the cost of covering a hall 45 m
long and 32 m wide with this carpet. Also, find
the cost of carpeting the same hall if the

carpet, 80 cm wide, is at Rs 25 per metre.

o Watch Video Solution

15. Find the area and the perimeter of a square

plot of land, the length of whose diagonal is 15


https://dl.doubtnut.com/l/_feuQ6gIvjFuR
https://dl.doubtnut.com/l/_nX715S8JVZcc

metres. Give your answer correct to 2 places of

decimals.

° Watch Video Solution

16. The shaded region of the given diagram
represents the lawn in the form of a house. On
the three sides of the lawn there are flower-

beds having a uniform width of 2 m.


https://dl.doubtnut.com/l/_nX715S8JVZcc
https://dl.doubtnut.com/l/_xuWQ4DB9rllz

12 m

Find the length and the breadth of the lawn.

o Watch Video Solution

17. The shaded region of the given diagram
represents the lawn in the form of a house. On
the three sides of the lawn there are flower-

beds having a uniform width of 2 m.


https://dl.doubtnut.com/l/_xuWQ4DB9rllz
https://dl.doubtnut.com/l/_xpGM1DXOLftL

w 12m =

Hence, or otherwise, find the area of the

flower- beds.

o Watch Video Solution

18. A floor which measures 15m X 8m is to be
laid with tiles measuring 50cm x 25¢m. Find

the number of tiles required.


https://dl.doubtnut.com/l/_xpGM1DXOLftL
https://dl.doubtnut.com/l/_QoOy7r98Qz02

Further, if a carpet is laid on the floor so that a
space of 1 m exists between its edges and the
edges of the floor, what fraction of the floor is

left uncovered.

° Watch Video Solution

19. Two adjacent sides of parallelogram are 24
cm and 18 cm. If the distance between the
longer sides is 12 cm, find the distance

between shorter sides.

° Watch Video Solution



https://dl.doubtnut.com/l/_QoOy7r98Qz02
https://dl.doubtnut.com/l/_67gBs8yb068x

20. Two adjacent sides of a parallelogram are
28 cm and 26 cm. If one diagonal of it is 30 cm
long, Find the area of the parallelogram. Also,

find the distance between shorter sides.

° Watch Video Solution

21. The area of a rhombus is 216 sq. cm. If its
one diagonal is 24 cm, find :

length of its other diagonal,

l O Watch Video Solution


https://dl.doubtnut.com/l/_67gBs8yb068x
https://dl.doubtnut.com/l/_s9IU9Pty7Yvc
https://dl.doubtnut.com/l/_Vic16PNljQ7W

22. The area of a rhombus is 216 sq. cm. If its
one diagonal is 24 cm, find :

length of its side,

° Watch Video Solution

23. The area of a rhombus is 216 sq. cm. If its
one diagonal is 24 cm, find :

perimeter of the rhombus.

° Watch Video Solution



https://dl.doubtnut.com/l/_Vic16PNljQ7W
https://dl.doubtnut.com/l/_PcMYNWLoX2oy
https://dl.doubtnut.com/l/_wsQKN3Fa7lqC

24. The perimeter of a rhombus is 52 cm. If one
diagonal is 24 cm, find :

the length of its other diagonal,

° Watch Video Solution

25. The perimeter of a rhombus is 52 cm. If one
diagonal is 24 cm, find :

its area.

° Watch Video Solution



https://dl.doubtnut.com/l/_wsQKN3Fa7lqC
https://dl.doubtnut.com/l/_MJxQvfny7gCJ
https://dl.doubtnut.com/l/_o7ydVF8W12di

26. The perimeter of a rhombus is 46 cm. If the

height of rhombus is 8 cm, find its area.

° Watch Video Solution

27. The figure given below shows the cross-
section of a concrete structure. Calculate the

area of cross-section if AB =18 m, CD = 0.6 m,


https://dl.doubtnut.com/l/_o7ydVF8W12di
https://dl.doubtnut.com/l/_in2pB1AiRmET
https://dl.doubtnut.com/l/_iZTXUALQE7ds

DE=0.8m,EF=0.3 mand AF =12 m.

o Watch Video Solution

28. Calculate the area of the figure given below

- which is not drwn to scale.


https://dl.doubtnut.com/l/_iZTXUALQE7ds
https://dl.doubtnut.com/l/_j3phCE2UbydV

<15 cm —->»

° Watch Video Solution

29. The following diagram shows a pentagonal
field ABCDE in whhich the lengths of AF, FG, GH
and HD are 50 m, 40 m, 15 m and 25 m
respectively, and the lengths of perpendiculars

BF, CH and EG are 50 m, 25 m and 60 m


https://dl.doubtnut.com/l/_j3phCE2UbydV
https://dl.doubtnut.com/l/_byODZiAtkiry

respectively. Determine the area of the field.

° Watch Video Solution

30. A footpath of uniform width runs all

around the outside of a rectangular field 30 m


https://dl.doubtnut.com/l/_byODZiAtkiry
https://dl.doubtnut.com/l/_NOKZ53sic59a

long and 24 m wide. If the path occupies an

area of 360 m?, find its width.

° Watch Video Solution

31. A wire when bent in the form of a square
encloses an area of 484 m?. Find the largest
area enclosed by the same wire when bent to
form:

an equilateral triangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_NOKZ53sic59a
https://dl.doubtnut.com/l/_km8v242GrL5h
https://dl.doubtnut.com/l/_ciZ1JOIzAoI3

32. A wire when bent in the form of a square
encloses an area of 484 m?. Find the largest
area enclosed by the same wire when bent to
form:

a rectangle of breadth 16 m.

° Watch Video Solution

33. For each terapezium given below, find its

area.


https://dl.doubtnut.com/l/_ciZ1JOIzAoI3
https://dl.doubtnut.com/l/_QAbS5jVTfNHM

12 cm

D > c
10 cm 10 em
A »> B
20 om

° Watch Video Solution

34. For each trapezium given below, find its

area.
o Bc:m} C
10 cm
all > B

14 cm


https://dl.doubtnut.com/l/_QAbS5jVTfNHM
https://dl.doubtnut.com/l/_dyLOYjhkPVtJ

° Watch Video Solution

35. For each trapezium given below, find its

area.
20 cm
D‘ S C
10 cm 16 cm
A > B
32 cm

° Watch Video Solution



https://dl.doubtnut.com/l/_dyLOYjhkPVtJ
https://dl.doubtnut.com/l/_7DE9OCIKnTx9

36. For each trapezium given below, find its

area.
D tﬂm; C
12 cm 12 cm
A > B
30 cm

° Watch Video Solution

37. The perimeter of a rectangular board is 70
cm. Taking its length as x cm, find its width in

terms of x.


https://dl.doubtnut.com/l/_7VIh96dR3I9c
https://dl.doubtnut.com/l/_i5T06B8ZNd7P

If the area of the rectangular board is 300 cm?

, find its dimensions.

o Watch Video Solution

38. The area of a rectangle is 640 m?. Taking
its length as x m, find, in term of x, the width
of the rectangle. If the perimeter of the

rectangle is 104 m, find its dimensions.

o Watch Video Solution



https://dl.doubtnut.com/l/_i5T06B8ZNd7P
https://dl.doubtnut.com/l/_oHv4fC83mWKf

39. The length of a rectangle is twice the side
of a square and its width is 6 cm greater than
the side of the square. If area of the rectangle
is three times the area of the square, find the

dimensions of each.

o Watch Video Solution

40. ABCD is a square with each side 12 cm. P is

a point on BC such that area of AABP : area


https://dl.doubtnut.com/l/_dg4QtXUTQkAa
https://dl.doubtnut.com/l/_q2yQkTpSfsJJ

of trapezium APCD = 1:5. Find the length of

CP.

o Watch Video Solution

41. A rectangular plot of land measures
45bm x 30m. A boundary wall of height 24 m
is built all around the plot at a distance of 1T m
from the plot. Find the area of the inner

surface of the boundary wall.

o Watch Video Solution



https://dl.doubtnut.com/l/_q2yQkTpSfsJJ
https://dl.doubtnut.com/l/_MDHUodAIyk4a
https://dl.doubtnut.com/l/_mRluebmFlS2M

42. A wire when bent in the form of a square
encloses an area = 576 cm?”. Find the largest
area enclosed by the same wire when bent to
form:

an equilateral triangle

o Watch Video Solution

43. A wire when bent in the form of a square
encloses an area = 576 cm?”. Find the largest
area enclosed by the same wire when bent to

form:


https://dl.doubtnut.com/l/_mRluebmFlS2M
https://dl.doubtnut.com/l/_vOBEOYnrSEqk

a rectangle whose adjacent sides differ by 4

cam.

° Watch Video Solution

2 and

44, The area of a parallelogram is y cm
its height is h cm. The base of another
parallelogram is x cm more than the base of
the first parallelogram and its area is twice the
area of the first. Find, in terms of y, h and x, the

expression for the height of the second

parallelogram.

| e |


https://dl.doubtnut.com/l/_vOBEOYnrSEqk
https://dl.doubtnut.com/l/_hkBT1FzksK7C

& watch Video Solution I

45. The distance between parallel sides of a
trapezium is 15 cm and the length of the line
segment joining the mid-points of its non-
parallel sides is 26 cm. Find the area of the

trapezium.

° Watch Video Solution

46. The diagonal of a rectangular plot is 34 m

and its perimeter is 92 m. Find its area.


https://dl.doubtnut.com/l/_hkBT1FzksK7C
https://dl.doubtnut.com/l/_efScFNZPKd4g
https://dl.doubtnut.com/l/_VqyqwB3E4s0X

° Watch Video Solution

Exercise 20 C

1. The diameter of a circle is 28 cm. Find its :

circumference

o Watch Video Solution

2. The diameter of a circle is 28 cm. Find its :

area



https://dl.doubtnut.com/l/_VqyqwB3E4s0X
https://dl.doubtnut.com/l/_7JVsrAR7EfOQ
https://dl.doubtnut.com/l/_1KOMU6JqNSLr

o Watch Video Solution

3. The circumference of a circular field is 308

m. Find its :

radius

° Watch Video Solution

4. The circumference of a circular field is 308

m. Find its :

area

| €8 l


https://dl.doubtnut.com/l/_1KOMU6JqNSLr
https://dl.doubtnut.com/l/_FxQXIUztwWGV
https://dl.doubtnut.com/l/_v18fEhoxF5C9

L ' Watch Video Solution J

5. The sum of the circumference and daimeter

of a circle is 116 cm. Find its radius.

o Watch Video Solution

6. The radii of two circle are 25 cm and 18 cm.
Find the radius of the circle which has
circumference equal to the sum of

curcumferences of these two circles.

o Watch Video Solution



https://dl.doubtnut.com/l/_v18fEhoxF5C9
https://dl.doubtnut.com/l/_k0vvfeYeAo0W
https://dl.doubtnut.com/l/_ks56IaPJJeqU

7. The radii of two circle are 48 cm and 13 cm.
Find the area of the circle which has
circumference equal to the difference of the

curcumferences of the given two circles.

o Watch Video Solution

8. The diameter of two circles are 32 cm and 24

cm. Find the radius of the circle having its area


https://dl.doubtnut.com/l/_ks56IaPJJeqU
https://dl.doubtnut.com/l/_cfv9Y9iUgqxU
https://dl.doubtnut.com/l/_zSDs02w35uSZ

equal to sum of the areas of the two given

circle.

° Watch Video Solution

9. The radius of a circle is 5 m. Find the
circumference of the circle whose area is 49

times the area of the given cirlce.

° Watch Video Solution



https://dl.doubtnut.com/l/_zSDs02w35uSZ
https://dl.doubtnut.com/l/_UTSBVUK4jwxr

10. The circle of largest area is cut from a
rectangular piece of card-board with
dimensions 55 cm and 42 cm. Find the ratio
between the area of the circle cut and the area

of the remaining card-board.

o Watch Video Solution

11. The following figure shows a square card-
board ABCD of side 28 cm. Four identical circle

of largest possible size are cut from this card


https://dl.doubtnut.com/l/_TgS2Va3N9Vq0
https://dl.doubtnut.com/l/_v5mv2ExGz8eM

as shown below.

D c

B A 4,

Find the area of the remaining card-board.

o Watch Video Solution

12. The radii of two cirlces are in the ratio 3: 8.
If the difference between their areas is

26957rcm2, find the area of the smaller circle.

l ﬂ Watch Video Solution l


https://dl.doubtnut.com/l/_v5mv2ExGz8eM
https://dl.doubtnut.com/l/_FTQLGXBGELGy

13. The diameters of three circles are in the
ratio 3:5:6. If the sum of the circumferences
of these circles be 308 cm, find the difference
between the areas of the largest and the

smallest of these circles.

° Watch Video Solution

14. Find the area of a ring shaped region

enclosed between two concentric circles of


https://dl.doubtnut.com/l/_FTQLGXBGELGy
https://dl.doubtnut.com/l/_oJUkrTs8V4gh
https://dl.doubtnut.com/l/_19Or8elLyn8P

radii 20 cm and 15 cm.

o Watch Video Solution

15. The circumference of a given circular park is
55 m. It is surrounded by a path of uniform

width 3.5 m. Find the area of the path.

o Watch Video Solution

16. There are two circular gardens A and B. The

circumference of garden A is 1.760 km and the


https://dl.doubtnut.com/l/_19Or8elLyn8P
https://dl.doubtnut.com/l/_1dmGo1HEXKjG
https://dl.doubtnut.com/l/_zFg572LMRjFe

area of garden B is 25 times the area of

garden A. Find the circumference of garden B.

° Watch Video Solution

17. A wheel had diameter 84 cm. Find how
many complete revolutions must it make to

cover 3.168 km.

° Watch Video Solution



https://dl.doubtnut.com/l/_zFg572LMRjFe
https://dl.doubtnut.com/l/_X6GAt5ZXBKgx

18. The wheels of a car are of diameter 80 cm
each. How many complete revolutions does
each wheel make in 10 minutes when the car is

travelling at a speed of 66 km per hour?

o Watch Video Solution

19. An express train is running between two
stations with a uniform speed. If the diameter

of each wheel of the train is 42 cm and each


https://dl.doubtnut.com/l/_Ib5T0NqjdUEb
https://dl.doubtnut.com/l/_8xaHX9GYashI

wheel makes 1200 revolutions per minutes,

find the speed of the train.

° Watch Video Solution

20. The minute hand of a clock is 8 cm long.
Find the area swept by the minute hand

between 8.30 a.m. and 9.05 a.m.

° Watch Video Solution



https://dl.doubtnut.com/l/_8xaHX9GYashI
https://dl.doubtnut.com/l/_tGqlaKhwKfhb

21. The shaded portion of the figure, given
alongside, shows two concentric circles.
If the circumference of the two circles be 396

cm and 374 cm, find the area of the shaded


https://dl.doubtnut.com/l/_eOiMwoyqFxZf

portion.

o Watch Video Solution



https://dl.doubtnut.com/l/_eOiMwoyqFxZf

22. In the figure, the area of the shaded
portion is 770 cm?. If the circumference of the
outer circle is 132 cm, find the width of the

shaded part

o Watch Video Solution



https://dl.doubtnut.com/l/_Pg6ySlHZJE8V

23. The cost of fencing a circular field at the
rate of Rs 240 per metre is Rs 52,800. The field
is to be ploughed at the rate of Rs 12.50 per

m?. Find the cost of ploughing the field.

o Watch Video Solution

24. Two circles touch each other externally. The
sum of their areas is 587Tcm? and the distance
between their centres is 10 cm. Find the radii

of the two circles.

| & I


https://dl.doubtnut.com/l/_ZJ8tkaMkdEiu
https://dl.doubtnut.com/l/_fd162J7YQLE1

| ¥ Watch Video Solution |

25. The given figure shows a rectangle ABCD
inscribed in a circle as shown alongside.
If AB = 28 cm and BC = 21 cm, find the area of

the shaded portion of the given figure.



https://dl.doubtnut.com/l/_fd162J7YQLE1
https://dl.doubtnut.com/l/_3qlJaxMCsJ6S

[ ° Watch Video Solution

26. A square is inscribed in a circle of radius 7

cm. Find the area of the square.

o Watch Video Solution

27. A metal wire, when bent in the form of an
equilateral triangle of largest area, encloses

an area of 484,/3cm?. If the same wire is bent


https://dl.doubtnut.com/l/_3qlJaxMCsJ6S
https://dl.doubtnut.com/l/_IpzkuSb8gNCB
https://dl.doubtnut.com/l/_XHlzjlmJa9a5

into the form of a circle of largest area, find

the area of this circle.

° Watch Video Solution

Exercise 20D

1. The perimeter of a triangle is 450 m and its

sides are in the ratio 12: 5: 13. Find the area of

the triangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_XHlzjlmJa9a5
https://dl.doubtnut.com/l/_AMeKr6WUNwkn
https://dl.doubtnut.com/l/_fKlPQqDPJ3co

2. A triangle and a parallelogram have the
same base and the same area. If the sides of
the triangle are 26 cm, 28 cm and 30 cm, and
the parallelogram stands on the base 28 cm,

find the height of the parallelogram.

o Watch Video Solution

3. Using the information in the following

figure, find its area.


https://dl.doubtnut.com/l/_fKlPQqDPJ3co
https://dl.doubtnut.com/l/_A8rJRhNHa7ZP

am
b .

o Watch Video Solution

4. Sum of the areas of two squares is 400 cm.
If the difference of their perimeters is 16 cm,

find the sides of the two squares.

o Watch Video Solution



https://dl.doubtnut.com/l/_A8rJRhNHa7ZP
https://dl.doubtnut.com/l/_R4XSn3xqT4Bs
https://dl.doubtnut.com/l/_gt1xSNhNtiV2

5. Find the area and the perimeter of a square

with diagonal 24 cm.

[Take /2 = 1.41].

o Watch Video Solution

6. A steel wire when bent in the form of a
square encloses an area of 121¢c¢m? . If the
same wire is bent in the form of a circle, find

the area of the circle.

o Watch Video Solution



https://dl.doubtnut.com/l/_gt1xSNhNtiV2
https://dl.doubtnut.com/l/_jWclJwREG2zV
https://dl.doubtnut.com/l/_jPKhxL4kkDuM

7. The perimeter of a semicircular plate is 108

cm, find its area.

o Watch Video Solution

8. Two circles touch externally. The sum of
their areas is 130m sq. cm and the distance
between their centres is 14 cm. Find the radii

of the two circles.

o Watch Video Solution



https://dl.doubtnut.com/l/_jPKhxL4kkDuM
https://dl.doubtnut.com/l/_Gsm88D6iWpn7
https://dl.doubtnut.com/l/_iEJUOwxiAbeX

9. The diameter of the front and the rear
wheels of a tractor are 63 cm and 154 m
respectively. The rear wheel is rotating at
24ﬁ revolutions per minute. Find :

the revolutions per minute made by the front

wheel.

o Watch Video Solution

10. The diameter of the front and the rear
wheels of a tractor are 63 cm and 1.54 m

respectively. The rear wheel is rotating at


https://dl.doubtnut.com/l/_iEJUOwxiAbeX
https://dl.doubtnut.com/l/_DC819VxBNDlD

24ﬁ revolutions per minute. Find :
the distance travelled by the tractor in 40

minutes.

o Watch Video Solution

11. Two circles touch each other externally. The
sum of their areas is 74mwcem? and the distance
between their centres is 12 c¢cm. Find the

diameters of the circle.

° Watch Video Solution



https://dl.doubtnut.com/l/_DC819VxBNDlD
https://dl.doubtnut.com/l/_wo2ES4uA7fes
https://dl.doubtnut.com/l/_dkIu5FWwKdnS

12. If a square is inscribed in a circle, what is
the ratio of the areas of the circle and the

square?

° Watch Video Solution



https://dl.doubtnut.com/l/_dkIu5FWwKdnS

